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B B R EZ 38 36 | 747 10.00 64.0
gl TS NE 37137 | 74 5.0 69.0
L E EE 2 40 | 80/ 9.0 71.0
A (BB & 40| 37 77 5.0 72.0
o AWM HE 43,38 | 81 8.0/ 73.0
6 K¥E HA 3940 | 79 6.0 73.0
6L A =FER 45 41 86/ 11.0/ 75.0
- 84 WA O 44/ 42 | 86/ 11.0/ 75.0
91 TEH  ZFEsh 39 44 | 831 8.0 75.0
106 4ald JGRE 34| 39 13 =2.0] 75.0
1142 [BJIl  [FIr 45 36 81 5.0/ 76.0]
124 #BZE i 4443 | 87 11.0 76.0
13 ™+ ik 42 43 85 9.0/ 76.0
145 RE B= 41) 42 83 1.0/ 76.0
1560 '=H 1{HB— 42/ 44 | 86 10.0 76.0
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B B Al ¥X 41 430 | 84] 16.0, 68.0
LBl Mg B 4438 | 82 13.0 69.0
i EAK EE 1648 | 94 25.0 69.0
M HE AR 49/ 43 921 22.0 70.0
i JIFA EA&E 42| 41 83 13.0 70.0
O |Fx HRH 4745 192 21.0 71.0
6L Mg BA 43431 86 15.0 T71.0
8L K E M 43 | 84] 13.0 71.0
96 |=H {Z7] 42 44 | 86 15.0 71.0
10 {EAK #= 46| 41 87 15.0 72.0
146 U Jt5 52047 | 99 26.0 73.0
120 TH 195K 52/ 49) |1101] 28.0 73.0
13 4 F#d 46 44 | 90 17.0 73.0
1460 BES IE3E 44/ 490 | 93] 19.0 74.0
1547 KR BF 51158 [109) 35.0, 74.0




BBl LF14—X ouT IN GROSS  HDCP NET

2 B HEF M 37138 | 75/ 6.0 69.0
LB HFF M 20 40 | 80/ 7.0/ 73.0
L = FAh 39| 40 79 6.0 73.0
A Il S+ 44/ 40 | 84/ 10.0/ 74.0
bz ™HHF I 39! 38 77 3.0 74.0
6 =8 =®RF 4545 90/ 15.0 75.0
AL = R 39| 39 78/ 3.0 75.0
8L Kt =HY 42| 39 81 5.0 76.0
O AR KR BHE 42 41 83 7.0/ 76.0
,,,,,,,, 100 F=2E K3 204 80 4.0 76.0
1 |12 Hzx 43 42 85 8.0 77.0
1260 Bt b EH 40 45 85 7.0/ 78.0
13 iR EM-F 51 48 99 19.0 80.0
1441 7k 3 = 46| 45 91 11.0/ 80.0
15461 fall #0% 45 52 97 17.0 80.0




